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1. Overall Description:

RAN2 thanks RAN1 for their LS. 
RAN2 took RAN1’s working assumption into account and agreed that MAC indicates the active time information to PHY. For the definition of “active time”, the following agreement was made
:

TX UE shall select initial 





transmission resource only in the RX UE’s active time where SL DRX timers are running now or will be running in future (at least on-duration timer). Further details of active time can be considered later. FFS on spec impact.








it is up to RAN1 to select an option described in their LS.
2. To RAN WG1 group. 

ACTION: 
RAN2 respectfully asks RAN1 to take the above in to account for its work.
3. Date of Next TSG-RAN WG2 Meetings:

RAN2#116-bis-e
17 – 25 January 2022


Online

RAN2#117-e                    21 February – 3 March 2022           Online
�It is optimal just copy the agreement instead of debating which parts are really intended for RAN1. 


�Here “initial” is intended to be removed in the final version. As commented online, for triggering resource selection in Phy there’s no need to differentiate between initial and retransmission resources. If we keep “initial” here, RAN1 might be led to believe that there will be separate agreements for retransmissions. 


�Well, we do see a possibility to define separate agreements, simply because it has not been concluded yet.


�Wang Min-> we don’t agree with the attempt to change the RAN2 agreements.


In the scope of the email discussion, it is said that


Inform the related RAN2 agreements





Therefore, we SHALL NOT update/filter the RAN2 agreements in the LS. 





�We think the “initial” word needs to be kept as it is part of the agreement. It is better to just stick to the wording of current agreements.


�The current agreement is the compromise from different views. Removal of ‘initial’ may not be acceptable.


�Cannot take “initial” out to alter the agreement.


�We would strongly against the attempt to remove the FFS part, which is the reason OPPO agree with the proposal.


�Agree. Keep the full agreement.


�Do not see the need of this sentence


The future active time is not used in R1 LS


The future active time is not used in R2 agreement either








�Agree with OPPO this sentence brings no added message. 


�Wang Min->Agree to remove this sentence.


�Share the same view as OPPO.


�There is no common RAN2 opinion on this aspect. Agree to remove.


�Agree to remove
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